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func send_msgs(n) /
if n = @ then

O ERENS BA R kT
else n < 0 : Send, Send, .. (Z£BE %)
event[Send]; n=0:e€

send_msgs (n-1) ||[n=1: Send

‘ n = 2 : Send, Send
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func send_msgs(n) [%ﬂ:j%b}%{i\ \/

if n = @ then l
J
O dH : Send™
else |: V. Gend®
event[Send]; \\\\

send_msgs (n-1) [%Ll:bfotb\i%/SJ
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#Eng (x) = #rier(x) = #Deq (x)

let rev 1 =

let rec aux 1 acc = match 1 with

#,00 A NV RIXICEND A N haDB

| [1 -> acc | h::t >
event[Tick]; aux t (h::acc)
in aux 1 []
let is_empty (11,12) =11 =[] && 12 = []

let enqueue e (11,12)
=event[Enql; (11,e::12)

let rec dequeue (11,12) = match 11 with
| []1] -> dequeue (rev 12, [1)
| e::11" -> event[Deql; (e, (11', 12))
let rec main (11,12) =
if x then main (enqueue 42 (11,12))
else if is_empty (11,12) then ()

else main (snd (dequeue (11,12)))

7077 LMELELTEONEEBERA RV
N5l DF)

Eng, Enq, Tick, Tick, Deq, Deq

Eng, Tick, Deq, Enq, Tick, Deq
Eng, Enq, Tick, Tick, Deq, Deq, Enq, Tick, Deq
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func send_msgs(n)
if n = 0 then
9.
else
event[Send];

send_msgs(n-1)

gl
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send_msgsDHRE A N> ;Flx

NX(n,x)Zm/icd &3 5
(7=7= LXIZAREZBEZHD)

func send_msgs(n)
if n = 0 then
9.
else
event[Send];

send_msgs(n-1)




func send_msgs(n)
if n = 0 then
9.
else
event[Send];

send_msgs(n-1)
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send_msgsDHRE A N> ;Flx
NX(n,x)Zm/icd &3 5
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X(n—1,x)
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func send_msgs(n)
if n = 0 then

9

else

dy.x =Send-yAX(n—1,y)
event[Send]; .//

send_msgs(n-1) X(n—1,x)




func send_msgs(n)
if n = 0 then

9

else

event[Send];

send_msgs(n-1)
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send_msgsDHRE A N> ;Flx
NX(n,x)amlzd &9 5
(7272 LXIEIREBZED

X — €

/Ely.x =Send-yAX(n—1,y)

X(n—1,x)




func send_msgs(n)

if n = 0 then

BIRA X sy RN

send_msgsDHRE A N> ;Flx
NX(n,x)&micd &35
(7272 LXISREBEE)

e
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X €

else

event[Send];

dy.x =Send-yAX(n—1,y) ‘

send_msgs(n-1)

/

X(n—1,x)

\

n=0Ax=eVn#0A@QAy.x=Send-yAX(n—1,y))
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func send_msgs(n)
if n = 0 then
9.
else
event[Send];

send_msgs(n-1)
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n,x) = n#0A@y.x=Send - yAX(n—1,y))
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send_msgsDHRE A N> ;Flx
NX(n,x)Zm/icd &3 5
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func send_msgs(n)
if n = 0 then
9.
else
event[Send];

send_msgs(n-1)
XOHHN %z m7- 3 e xd &/ITER

(uX(n, x). n#0A(3y.x=Send-yAX(n—1,y))

))(x,n)
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T-VINT -VFun 3
Fhx: ({ulu=x}&0,,) I'kx: ([(x)&D,,) _ Trevial: ({x|x =0} &) T-EvENT
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(li (TL,X).n -+ OA(EIy. x = Send-y/\X(n— 1;}7))) (Tl,x)

4

CI);‘ = (n=0Ax = Send™)
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y= (n<0Ax = Send?)
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(n>0Ax =Send") =2 x = Send"™

(n < 0Ax = Send?) % x = Send®
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ERBERAE
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(n>0Ax =Send") = x = Send"™
H7E I

(n<0Ax =Send?) = x = Send?®
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